REVISED MARCH 1967 G aly

SLOT CAR RACING IS

INTERNATIONAL

ENGINEERING

MAIL ADDRESS: P.O. BOX 1025, REDONDO BEACH, CALIF. 90278 e PHONE: 213-830-2771
MANUFACTURING ADDRESS: 824 FLINT AVE., WILMINGTON, CALIF, 90744

ORDER SHEET

SOLD TO: - SHIP TO:
ORDER NO. DATE:
Qty. | Cat. | Retail Pkg.
Ord. | No. | Price Quantity
1101 Allen Wrench, 4-40 Screw | § .19 ea. | 20/box
1103 Punched Pickup ! .19 pr. | 10 pr./box
1108 Super Power _ s .50 btl.| 12/box
1110 Tire Cement e .39 btl. 12/box
1113 1/8 x 1/4 Oilite Flanged Bearings _ .19 pr. | 10 pr./box
1114 2-56 x 2 inches Threaded Rod W/Nuts _ _ .55 set | 1 set/card
i 1115 Ultra-Flex Pickup Wire ’ .19 set | 1 ft./card
- 1130 Axle, 2-1/4", 5-40 thread .15 ea. | 10/pkg.
1131 Axle, 2-1/2", 5-40 thread .15 ea. | 10/pkg.
1132 Axle, 2-3/4", 5-40 thread .15 ea. | 10/pkg.
. 1133 Axle, 3", 5-40 thread N .15 ea. | 10/pkg.
1134 Brass Weight .24 ea. 1/pkg.
1135 Die, 5-40 thread 1.75 ea. 1/card
1136 Tap, 5-40 thread ' 1.25 ea. 1/card
1137 Gear Puller 1.75 ea. 1/card
1138 Tire Cleaner .49 btl.| 12/box
. 1140 Axle, 2", 5-40 thread .15 ea. | 10/pkg.
= 1141 2-56 x 1-1/2" Screw, Stainless Steel N .39 set | 1 set/pkg.
o 1143 Guide, 1/8" Post - 1 .49 ea. 1/card
1144 Guide, 3/16" Post ' .49 ea, 1/card
N 1145 | 3/16" I.D. Pickup Collar - _ .15 ea. | 20/pkg.
1146 1/8" I. D. Pickup Collar 5 i .15 ea. | 20/pkg.
1150 3/16" Plain Braid , S0 gk, [ 25ipra B




Qty. | Eat. | Retail | Pkg
Od. | No. | = : Price Quantity
| 1153 Wrench, 5-40 & 2-56, Open End e s e e [ e T
= B k) Allen Wrench, 2-56 I9aa _20_/box
] 1nsE Jam Nuts, 5- 40 . .05 pr. | 50 pr./pkg.
= 1156 Nuts, 2-56 = ) - J05pE | S0 prpka.
e 1157 = Self Tapping Screw #2 X 1/4" .05 pr: | 50 pr./pkg.
T | 1158 | Self Tapping Screw ¥#2 X 3/8" .05 pr. | 50 pr./pkg.
| 1159 | Self Tapping Screw #4 X 1/4" .05 pr. | 50 pr./pkg.
R Washer, Flat, 1/8" 1. D. .05 pr. | 50 pr./pkg.
: — | 1162 | Washer, Flat, 3/16" 1. D. | 05 |'90hE Apkan
| 1164 | Set Screw 4-40, Slotted, Headless .10 ea. | 20/box
[ 1187 Screw, 2-56 X 3/16" .05 pr. | 50 pr./pkg.
- 1168 'Screw, 4-a90 X 174" .05 pr. | 50 pr./pkg.
EEEEE Nut, 4-40 thread E e .05 pr. | 50 pr./pkg.
o 1170 Axle Spacer (Plastic) L | .24ea. | 1/pkg.
:_ et 2 1172 Flanged Ball Bearings 1/8" X 1/4 " S 12.00 pr. | 1 pr./pkg.
| 1173 | 3/16 1. D. Weighted Pickup Collar | .29 ea. 10/pkg.
— 1174 | ¥/81.D. Weighted Pickup Collar R T R Y VT
T s eE e Chassis - SP 500 & 600 Type (Sidewinder) 3.35ea. | I/cerd =
'_ 1179 | Aluminum Chas. Brkt. SP 500, SP 600 Type (Sidewinder) | .49 ea. | 1/pkg.
— ' 71180 | Brass Chas. Brkt. SP 500, SP 600 Type (Sidewinder) e
1181 Screw, 2-56 X 1/8" e .05 pr. [50 pr. /pkg
~ 71183 | Chassis for SP 90 Type Motor (Sidewinder) 3.35 ea e
= 1184 | Aluminum Chas. Brkt. for SP 90 Type Motor (Sidewinder) | .49 ea 1/pkg.
~ | 1187 | TFlexible Motor Lead Wire .25 pkg.| 1/pkg.
1188 | Flanged Ball Bearing 3/32" X 3/16" = e 1 pr./pkg.
1189 Axle, Non Magnetic Stainless 2-1/2", 5-40 thread 30 ea. | L/pkg.
= 1190 Axle, Non Magnetic Stainless 2-3/4" 5-40 thread .30 ea. | 1/Pkg.
1191 Axle, Non Magnetic Stainless 3", 5-40 thread 30ea. | L/pka.
1192 Tube Cutter ' G 2.49 ea. I, 1/card
1193 Screw Driver 15 ea. | 1/card B
1194 Axle, Hardened Stainless Steel 2-1/2" .30 ea. | 1/card
1195 Axle, Hardened Stainless Steel 2-3/4" .30 ea. | 1/card
1196 Axle, Hardened Stainless Steel 3" .30 ea. 1/card
1197 Tool Kit 4.50 ea. 1/box
1198 Flanged Ball Bearings 3/32" X 3/16" (Balls Separated) 2.50 pr. 1/card
1199 Chassis for Classic 450 - Pitt 6001 (Sidewinder) 2.95ea. | 1/card
1200 Motor Brkt. for Classic 450 - Pitt 6001 (Sidewinder) .49 ea. 1/card

Se 0N ..,99

2. 5koTy,

o,

Internationdt

TIRE
CLEANER
Sihecrions ek S
L aps @l
Surency S aet

Wike Sige DR
:’JAM ;:5‘_“ CiEH

T YouiH
\ TIhENEmw rmé“-”

Wi
1 i at’




. an 1Al
MAL oY
Qty. & o
~ Ord ~ Noe. BODIES e ~ Price | Quantity
| T T S §iZ5ea ] lsea.
. 1302T | 55 Chev o e Biseai shufe
1303T . |.65 Mustang 2+2 2 R EET 1/ea.
. 1304T 53 Ford Pickup i ~ 1.25ea B
1308. | ~ Body Mount (Brass) - ~.59/set | 1 set/card
i 1309T 66 Barracuda . : Tdsdaean l/ga__
e Lo 66 Stingray e . 1.25 ea Ll
13127 151 Maserati L - 1.25 ea
= 1313T | 34 Ford 3 Window Coupe e T ;
13147 28 Model "A" e 1.25 ea y
1315T Harve/ ~\1um1nu'n 1.25 ea '
13161 | Lotus Ford G. P. B R T T T R =
1318T | Sportsman Coupe SO 1256, |
I319T | 65 Dodge Monaco s — . e [
= 1320T _Fiat Coupe SN 1.25 ea, | pleie =
- 1321T | 65 0lds 88 - 1.25 ea. | o
13227 | 37 Cord Convert SO abadBoead e
1323T | 35 Auburn Speedster i B - 1.25 ea, | |
S 1324T 48 Lincoln Cowtmental 1.25 ea. | N
13277 | Ford G. T SN T a0
13287 54 Pontiac G. P. e o W
ol 1330 |  Body Mount (Aluminum) o B — .59/set | 1lset/card
1331T | 66 Ford Gasser L . g e Ladsien . dljea i
1332T | 41 Willys P -
1333T Mercedes 300 SL S 1.25 ea.
1334T 66 Plymouth Fury 3 o 1.25 ea. R
S 1335T | 66 Marlin = R Y S Rea
1336T 66 Chev. Impala e 1.25 ea. \
= 1337T | 65 Pontiac GTO B e Wi
1339T Toronado - _ 1.25 ea. ,
1340T Mako Shark i = e
1341T 1930 Model "A" Pickup 1.25 ea,
e 1342T | 1932 Ford Victoria 1.25 ea.
1343T | VW Micro Bus - 1.25 ea. | R
1344T | 1967 Chev Impala 1.25 ea. :
1345T | 1967 Ford Galaxie a 1.25 ea. '
1346T | 1967 Dodge Charger L, 05 e |
1347T | 1931 Model A Ford Coupe 1.25 ea. F
1348T Super Sportsman Body 1.25 ea,
1349T Furious Fiat  Body S ~1.25 ea. i
1350T A Bomb Body 1. 25 ea. )
1351T | Tijuana Taxi Body "1.25ea. | 1/ea




Qty. Cat. Retail Pkg.
_ Ord. No. _ B = Price - Quantity
1501 Super Sportsman ( ready to run ) - e Ldegseas s
1502 Furious Fiat (ready torun k= = R e e .
1503 "A" Bomb (ready to run _ Release data S }13.95 ea. -
1504 Tijuana Taxi (ready to run | to be announced y £ 9:95

NTERNATIONAL

o

ENGINEERING

BOX 1025
REDONDO BEACH, CAL. 90278

Wi




ngineering

Presents the

“A" BOMB

513

CAT. #1503

CLASSIC
450
BALLBEARING

wmﬁn'l"

ONLY

3 OZI 7.311!&%? MOTOR smﬂﬁf
- TIRES

>

CHASSIS Lmnsmu BAR SUSPENSION

BLACK ANODIZED WHeeL | CHROIWIE
KNOCKOFFS

P.O. BOX 1025. REDONDO BEACH. CALIF. 90278



ngineering

Presents the

FURIOUS FIAT

30

CAT. #1502

WEIGHT

CLASSIC

A 450
ONLY BALLBEARING Eiuﬁl!if?
3 0Z. MOTOR SPONGE
TIRES
INLINE 7
CHASSIS | —
TORSION BAR SUSPENSION

BLACK ANODIZED WHEEL

CHRO
KNOCKOFFS J

PN ROAY 1025 PFNONNDO RFACH CAIIF 9N278



ngineering

Presents the

SUPER SPORTSMAN

I

CAT. #1501

CLASSIC

450
BALLBEARING I;Iuﬁl:ﬁf?
MOTOR SPONGE
TIRES
Lmune |
CHASSIS |—
J| | TORSION BAR SUSPENSION

BLACK ANODIZED WHEEL

CHROWrE
KNOCKOFFSJ

P.O. BOX 1025. REDONDO BEACH. CAIIF ©n2?78



ENGINEERING

HIGH IMPACT BUTYRATE BODY.
NTERNATIONAL EL TORO MOTOR

LIGHT WEIGHT ALUMINUM
SIDEWINDER CHASSIS.

ZYTEL GUIDE,



/ GUSTOM DESIGNED READY-T0-RUN. 8.9




Hot ... power-packed

... the Bat is not a copy of anycar in existence.
Custom designed exclusively

for MDC,

this all new hot car comes to you

with so many exciting features

never before offered in one car

... 24th scale, fully assembled, ready-to-run,
this black beauty comes

in a colorful pilfer-proof display package

... The proud Bat lists at
only 8.95

clear plastic Bat shell...1.49

#1301

High impact plastic body

Large clear windshield—

easily converts to roadster. ..
Built-in Diaplane and Spoilers.. ..
Unitized sidewinder skeleton frame
Powered by 801 Panther motor
Special formula Firestone tires
Exciting fluorescent stripe

Precision engineered!

Performance tested!

TASEE BY MDEC INC. HAWTHORANE, CALIFDRMIA

DISTRIBUTED BY:

MONFI NIF NASTING INC RR’I'I-’I.!% WEST ROSECRANS = HAWTHORNE. CALIFORNIA 80250



01-9911-92b20 #

V'S'N NI G3LNIMd ‘03AHISIY SLIHOIY 17V 'SIONITII ‘JAOHD NOLHOW “ONI ‘S13A0N WVHDONOW 9961 O LHDIHAJOSD

'sal ¢tk LHOIIM
S1liM 21 ONDIOVd
00CHS$ 1lv.Li3d
9.pZHS 'ON 1M

OVXOVd AV1dSIA d-O-d M3N

"JONVINHO04H3d dO1 404
031S31-HJV1 HOLO0W AH3IAT

‘S[@aym wnujwnje uoisioaid
0} papuoq syols abuods
pani} Alojoej ‘onea |:g 1eab
inds uoijejfu ‘sBuiieaq
uosnelAu ¢ ‘dnyoid Buims

& pejybiem ‘sisseyo agaid suo

I ‘wnuiwnie pauapiey Jybiam

-yb1| ‘lojow lspuimapis §0zz-X 12dns 1abBiL 110A 8 INdH :m._f MaN
INVM TIV AJHL SIHUNLVI4 ONINNIM FHL SVH .. INVNS..

ipiey pue ‘@)jiiis 0} Inoqe sy asnes ‘isej yoeq dwnl pue ayeusg
Axeaus ‘umop mo| sy jo fusid yum mou dn joo}s plon _u.._m_._m
pue usaly awl|S ‘si0j0d Buljzzep om)] ul ajqe|ieAE SI a)eus .?:::ou
9y} JaAo || syoel} uo S[|nys J1ay) jo jno uonnadwos ayy Buiaup aq
__.m.s .EE sisseyo A||aq-moT,, weibouoy mau ayj spods axyeug ey
iLS3LLOH @y} st }| * * ° "isej $}00] £|uo jou Aneeq peipog-oea ajyoid
MO|-MO| SIYl ‘“JapuiMmapis }joA g ‘uni-ol-Apeal Buioel juejsul jsaje|
s,weiBouopy * * * "a)eug ay} 1940 ady, 0B [|IM pMOID , quiny) Joy,, YL

dvd INIJVH HIANIM3IQIS
NNd-01-AQY3d 31VIS ¥2/l

m_w._n__:__!




